Calculus & Trigonometry Name

ID: 1

Assignment Date

Evaluate each expression.

1 1
1) log, — 2) log, —
) log; 343 ) log, 16
3) log, 1 4) log, 64
1 6) log. 1
5) log, — 7
) logs 27
1 8) log . 81
7) log, — 3
) log, 64
9) log, 16 10) log, 243
11) log, 64 1
12) log, —
) log7 7
13) log, 6 14) log, 32
15) log, 1 1
16) log, —
) log, 16
1 18) 1 49
17) log, — ) log,
9
19) log, 4 20) log, 4
1 1
21) log. — 22) log., —
) logs 125 ) log, 8

23) log 216

1
24) IOg 3 %

Period



1
25) log , —
) log, 1
1
27) log. —
) logs 7

1
29) log, o

31) log, 1

33) log 25

35) log, 36

37) log 1

39) log, 9

26) log, 343

1
28) log, 36

30) log, 8

1

32) log, —
) log, 7,
34) log, 16

1
36) IOg 6 E

38) log 125

40) log, 27

Use a calculator to approximate each to the nearest thousandth.

41) log, 43

43) log, 4.8

45) log, 58

47) log, 18

49) log, 30

51) log, 17

53) log. 5.6

42) In 6

44) log, 3.3

46) log, 1.7

48) log, 5

50) log, 69

52) log, 3.23

54) log 17



55) log, 58

57) log, 26

59) log, 4.6

61) log, 69

63) log, 1.2

65) log, 2.2

67) log 3

69) In 4

71) log, 16

73) log, 12

75) log, 31

77) log ; 1.9

79) log. 3.6

56) log . 61

58) log, 21

60) log, 54

62) log 5.3

64) log, 5.3

66) log, 2.3

68) log, 25

70) log, 39

72) log, 6

74) log, 1.7

76) log 29

78) log, 6.9

80) log, 2.8



Identify the domain and range of each. Then sketch the graph.

81) y=log, (x+2)+1 82) y=log, (x-1)-5
8\)’ Domain: x > -2 g Y > Domain: x > -1
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V
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83) y=log, (x-1)+4 84) y=log, (x-1)+3
A) A)

3ky Domain: x > 1 al Y Domain: x > 1
Range: All reals Range: All reals
O 0
B % —
Y R V) 2 4 X J Y o VR ) 2 4 X
B L N
=4 =4
=0 =0}
—3(!,' =3
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85) y=log, (x-1)+3 86) y=log, (x-1)-5
5 A)

A) 3 Y Domain: x > -1
({\y Domain: x> 1 |_» Range: All reals
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O
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5 I~~~ < >
AT 2 4 x
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—4 .
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g Y Domain: x > 1 |, Range: All reals
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-8 6 ¢4 2 4 X
- -~ .
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87) y=log, (x-1)+2 88) y=log, (x+5)+5
A) A)

3ky Domain: x > -1 al Y Domain: x > -5
Range: All reals Range: All reals
O 0
4 4
Y R V) ) — % x J Y o VR ) 24 X
+4 = —4'——_‘
0l / =0}
y vl
0( v =0
g Y Domain: x > 1 8\)/ Domain: x > -5
0 Range: All reals - L Range: All reals
G > &
- - - N,
8 6 4 2 ? 4 X -8 6]¢# 2 2 4 X
=4 =4
=0 =C
=8 =4
A 4
é Y Domain: x > -1 8\)7 Domain: x> 5
Range: All reals Range: All reals
0} 0
P E—— 4
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i 4
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Range: All reals Range: All reals
O 0
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89) y=log (x-1)-2 90) y =log (x-2) -4
A) A)

;’k Y Domain: x > -1 ol Y Domain: x > 2
Range: All reals Range: All reals
0
A A /’_—4.
H “H
8 de 4 2 2 4 X Y ) 4 x
+4i =4
0 =0
3 -8
4
g Y Domain: x > -1 8\ Y Domain: x > -2
Range: All reals Range: All reals
0}
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- - - N,
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91) y=log, (x-1)-4 92) y=log, (x+6)+5
A) A)

3ky Domain: x > -1 al Y Domain: x > 6
Range: All reals Range: All reals
O 0
4 4
Y R V) 2 4 X J Y o VR ) 2 4 X
- i -
= =4 ;
/’
0l =0}
3( =3
g Y Domain: x > 1 8\)/ Domain: x > 6
Range: All reals Range: All reals
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=4 /' i
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93) y=log4(x+5)—1

Domain: x > -5
Range: All reals

Domain: x > 5
Range: All reals

Domain: x > 5
Range: All reals

Domain: x > -5
Range: All reals
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94) y=log, (x+6)+5
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A)

B)

0

D)

al Y Domain: x > -6
Range: All reals
0
4
B8 46 4 p 2 4 x
T
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8\ Y Domain: x > 6
Range: All reals
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-8 46 4 2 2 4 X
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4
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Range: All reals
0
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'
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I Range: All reals
0
4
B8 b 4P 2 4 ¥
=4
=3



95) y=log (x-1)-3

Domain: x > 1
Range: All reals

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > -1
Range: All reals

) .
5
4
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B)

9)

D)

al Y Domain: x > -5
Range: All reals
0
E
R e ) ¥
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8\ Y Domain: x > 1
Range: All reals
4
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>
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8k Y Domain: x > 0
Range: All reals
0
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Range: All reals
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+4
o



97) y=log, (x+5)+1 98) y=log, (x-2)+4
A) A)

gk Y Domain: x > -5 al Y Domain: x > 2
Range: All reals Range: All reals
O 0
4 4
R 2 4 X J Y o VR ) 2 4 X
=2 =2 2’
A A e
=4 =4
=0 =0}
—3( =3
g Y Domain: x > 5 8\ Y Domain: x > -2
Range: All reals Range: All reals
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- - N,
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=4 =4
=0 =C
=8 =4
A 4
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Range: All reals Range: All reals
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= =
=4 A
=6 =
=8| =8
A '
é‘ Y Domain: x > 5 ;k Y Domain: x > 2
Range: All reals Range: All reals
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B A
7
Y P V) > 4 X J Y o P ) 1 4 X
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—8( =8|
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99) y=log, (x—1)+2
A)

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals
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4
C
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=
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100) y=log, (x+4)-4
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A)

B)

0

D)

ol Y Domain: x > 4
Range: All reals
0
107
8 46 4 2 x
=4
=0}
=3
8\ Y Domain: x > 4
Range: All reals
4
N,
-8 6 ¢4 2 4 X
=4
=C
=4
4
8k Y Domain: x > -4
Range: All reals
0
A
-8 6 ¢4 2 4 X
L
=
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'
;k Y Domain: x > -4
Range: All reals
0
—
( i
B8 46} 2 4 X
=4
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101) y=log, (x+4)-1 102) y=In(x-1)+2
A) A)

N
g Y Domain: x > 4 g Y Domain: x > 1
Range: All reals Range: All reals
O 0
4 4
2 — 2
ST [ > 18 d6 4 Db LA -
i -4
=06 =0}
= =§
4
) , ) \
g Y Domain: x > -4 g Y Domain: x > -1
Range: All reals Range: All reals
0}
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P g o N
B8 D2 > 4 . 1846 4 2 —7 *
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=0 FC
=8 8]
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Range: All reals Range: All reals
0} C
4 4 —
] Jo a2 4 > T8 de 4 D ) 4 x
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- 8]
A '
) ) )
g Y Domain: x > 4 g 7 Domain: x > 1
Range: All reals Range: All reals
O 0
4 4
/
5 A A
Y VY % R 2 4 “x
—i —
— =0}
= =8|
4
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103) y=log (x+1)+4 104) y=log, (x-1)+4
A) A)

gk Y Domain: x > 1 al Y Domain: x > -1
Range: All reals Range: All reals
: I N
4 4
Y R V) 2 4 X J Y o VR ) 2 4 X
5 5 =
=4 —4
=0 0
- ¥3
B) ‘ B) \
3 Y Domain: x > 1 g Y Domain: x > -1
Range: All reals Range: All reals
0} /’-_
” 4
- - - N,
8 46 4 2 2 4 x 8642 24 x
B L |
-4 4
=0 T
By d
A 4
C) Ay ©) v
g Domain: x > -1 g Domain: x> 1
Range: All reals Range: All reals
0} ’—’_—9. 0
/ &
-8 6 4 2 ? 4 X -8 6 ¢4 2 4 X
] = ——
4 =4
ol =
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A '
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/
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8( =8|
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105) y=log, (x-1)+5 106) y=1log, (x+4)-5
A) A)

gk Y Domain: x > -1 al Y Domain: x > -4
Range: All reals Range: All reals
o~ 6}
4 4
Y R V) 2 4 X J Y o VR ) 2 4 X
4 4
=0 =0}
—3( =3
{; Y Domain: x > -1 8\ Y Domain: x > 4
Range: All reals Range: All reals
0}
G &
- - - N,
-8 -6 4 2 2 4 x 8 46 4 L2 1 X
=4 =4
/
1() =C
¥ =4
A 4
A Domain: x > 1 8k Y Domain: x > -4
Range: All reals Range: All reals
0}
4 4
-8 6 4 2 ? 4 X -8 6 # 2 4 X
=4 =4
/
> f’ _
=Y =8
A '
é‘ Y Domain: x > 1 ;k Y Domain: x > 4
Range: All reals Range: All reals
€ — Y
4 4
Y P V) > 4 X J Y o P ) 2 4 X
=4 =4 -
—8( =8|

-16-



107) y=1log, (x-1)-3 108) y=log, (x-1)+3
A) A)

gk Y Domain: x > 1 al Y Domain: x > 1
Range: All reals Range: All reals
O 0
4 / // 4 —
Y R V) 2 4 X J Y o VR ) 2 4 X
=4 =4
=0 =0}
—3( =3
B) B)
{; Y Domain: x > -1 8\ Y Domain: x > -1
Range: All reals Range: All reals
0}
G & —
- - - N,
8 6 4 2 P X -8 6 ¢4 2 2 4 X
=217 :
Wy |
0} T
8 =4
A 4
C) C)
é Y Domain: x > -1 8k Y Domain: x> 1
Range: All reals Range: All reals
6 [ 6|
4 /// 4
/ 5
-8 6 4 2 ? 4 X -8 6 ¢4 2 4 X
. = —
T4 =4
ol =
8] =8
A '
D) D)
é‘ Y Domain: x > 1 ;k Y Domain: x > -1
Range: All reals Range: All reals
O 0
4 4
R V) | 2 4 % J R R P 1 24 ¥
= / - /
=4 l =4
= i 3
4
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109) y=1log, (x-1)+5 110) y=log, (x+5)+4
A) A)

gk Y Domain: x > -1 al Y Domain: x > -5
__» Range: All reals Range: All reals
O / /U—_'__.
4
Y R V) 4 X Yy G 4 X
4 =4
0 =0}
—3( =3
B) ‘ B) \
g Y Domain: x > -1 g Y Domain: x > 5
Range: All reals Range: All reals
0}
4 4 f
- - - N,
-8 46 ¢4 2 4 X -8 46 ¢4 2 4 X
4 = 4
i —
1() =C
¥3 =8
A 4
C) Ay ©) v
g Domain: x > 1 g Domain: x > -5
Range: All reals Range: All reals
0} 0
4 4
-8 46 ¢4 2 4 X -8 46 ¢4 2 4 X
= A
=4 1 =4
T
> f’ [
=8 v =8
A '
é‘ Y Domain: x > 1 ;k Y Domain: x > 5
Range: All reals Range: All reals
6 T 0}
4 4
Y P V) > 4 X J Y o P ) 2 4 X
-4 -4 r
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_O( =0 Al
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111) y=log, (x+2)-2 112) y=log  (x-1)+2
A) A)

gk Y Domain: x > -2 al Y Domain: x > -1
Range: All reals Range: All reals
O 0
B B [ B
Tk —244__,.—Ah—+r-*?’; J Y o VR ) 24 X
=4 14
=0 0
—3( 3
{; Y Domain: x > 2 8\ Y Domain: x > 1
Range: All reals Range: All reals
0}
i L ;' >
- ( - - N,
8 6 4 2 4 X -8 6 ¢4 2 2 4 X
=4 =4
=0 =C
=8 =4
A 4
é Y Domain: x > -2 8k Y Domain: x> 1
Range: All reals Range: All reals
0} 0
4/’__—__’. H
-8 6 ¢4 P ? 4 X -8 6 ¢4 2 468, x
=4 =4
=6 =
=8| =8
A '
é‘ Y Domain: x > 2 ;k Y Domain: x > -1
Range: All reals Range: All reals
O 0
4 4
R V) >} Gy J R R P ) A ——%
=4 +4
—8( 8
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113) y=log (x-1)+5 114) y=In(x-2)+2
A) A)

N .
g Y Domain: x > -1 g Y Domain: x > -2
Range: All reals Range: All reals
O 0
4 4
EEEENEE X B # P TH x
A > A
== =4
A -
0 0
L =8
4
) , ) \
Y Domain: x > 1 3| Y Domain: x > 2
Range: All reals Range: All reals
0}
G & -
J A
«< A, A N
) |2 4 X 8 46 ¢4 2 1 ] 4 X
=4 =4
/
4 1/ =€
=8 ¥ =8
A \/
) , ) \
8| Y Domain: x > 1 3 N Domain: x > 2
Range: All reals Range: All reals
0] — €
4 4
8 do d4 D 112 4 X TR D2 12 /ZV! ’x
—4 —
—6| -
—g| -3
A '
) A ) i
g Y Domain: x > -1 g 7 Domain: x > -2
Range: All reals Range: All reals
o _— 6}
4 4— = 1
5 A
IR e EEEEFEE “x
4 —
— =0}
= =8|
4
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115) y=log  (x-2)+5

A)

B)

0

D)

Sk Y Domain: x > -2
| Range: All reals
¢ —
4
B4 P 2 4 “x
=4
=0
=8
4
{; Y Domain: x > 2
Range: All reals
0}
4
8 6 4 2 ? 4 X
=4
=0 /
=8
A
é Y Domain: x > -2
Range: All reals
0}
4
-8 6 4 2 ? 4 X
A >
=4
e
=8|
A
é‘y Domain: x > 2
Range: All reals
O
4
816 4 4 X
=4
=4
4

116) y=log  (x-1)+1

21-

A)

B)

0

D)

al Y Domain: x > -1
Range: All reals
0
E
846 4 2 7 4 X
+4
0
8§
8\ Y Domain: x > -1
Range: All reals
4
=
N,
-8 6 ¢4 2 2 4 X
44
T
8
4
8k Y Domain: x> 1
Range: All reals
0
A
-8 6 ¢4 2 7 X
=4
=8
'
;k Y Domain: x > 1
Range: All reals
0
4
L~
8 d6 4 2 4 ¥
=4
=3



117) y=log, (x+6)-2

A)

B)

9

D)

E} Y Domain: x > 6
Range: All reals
O
4
5 ()r
8 46 4 2 ) X
=4
=0
=§|
4
g Y Domain: x > -6
Range: All reals
0}
4
-8 —6/—4/_—_% X
=4
=0
=8
A
é Y Domain: x > 6
Range: All reals
0O
4
-8 6 4 2 4 8 x
=4
=0
=8
A
é‘ Y Domain: x > -6
Range: All reals
O
4
P e
8 F 4 4 X
=4
=4
4

118) y=1log, (x-1)-3

22

A)

B)

9)

D)

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > 1
Range: All reals

4
Ay
4
U}
4
A RN
B8 46 4 p 4 x
-4
=0
-
4
5
A\
AN
18 4 b )] X
|
=C
-
7
\y
5
0O
4
N
;8 4 b )] x
P
=4
=0
-9
'
y
8
U}
4
B8 46 4 p J ¥
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=
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119) y=1log (x+3)-2

;’k Y Domain: x > -3
Range: All reals
4
8 d6 4 x
=4
=0
=§|
4
g Y Domain: x >3
Range: All reals
of
4
- -
-8 6 4 2 4 6 8 x
=4
=0
=8
Y
; Y Domain: x >3
Range: All reals
0}
4
N —>r
TRl D ! x
=4
=0
=8
A
Sk Y Domain: x > -3
Range: All reals
O
4
—
1k b Lk 4 “x
=4
=0
=8
4

Expand each logarithm.

6\
121) log, (H)
A) 10log, 6 - 2log, 11
B) Slog, 6 +2log, 11
log, 6 log, 11
* 2

C) log, 7+

D) 10log, 6 +2log, 11

120) y=log, (x-1)+3

al Y Domain: x > -1
Range: All reals
0
E
J R R P 21 6 3%
=2
0
8§
8\ Y Domain: x > 1
Range: All reals
4
- N,
-8 6 ¢4 —2_" 2 4 » 3 x
LT
=4
=C
=4
4
8k Y Domain: x> 1
Range: All reals
0
& T
-8 6 ¢4 2 4 X
=4
=8
'
;k Y Domain: x > -1
Range: All reals
0
A —r
‘f/
J R R P ! ¥
4
o

122) log, V53-8

A) Slog, 5 +5log, 3

log,5 log,3
+

3 3
log, 5

B) +1

C) 15+

D) Slog, 5 -25log, 3

23-



123) log, (2-11-57)
A) 3log,2-6log, 11
B) log, 2 +log, 11 +2log, 5

log, 2

C) 2log, 5+

D) 2log, 2 +3log, 11

125) log, (3310 - 11)
A) 8log, 10 +4log 11
B) 8log, 10 —4log, 11

log, 10

C) 2logg 3 +

D) log, 3 + 3

3
a
127) log (—)
3 b6

A) 3log, a-18log, b
B) 18log, a +3log, b
log,a log,b log,c
+ +
2 2 2
D) 3log, a +18log, b

0

129) log, (u-v-w3)

A) 3log, u—4log, v

logyu logyv logyw
+ +

2 2 2
C) log, u+log,v+3log,w

B)

logyu logyv
D) log, w+ +
) log, 5 5

131) log, (@*-5)°
A) logy a+log, b+3log,c
B) 3log, a-6log, b
C) 18log, a-6log, b
D) 18log, a + 6log, b

log, 10 logg 11
+

124) log, (3°V2)
A) 15log, 2 - 3log. 7

log 2

B) Slog, 3+

C) 15log, 2 +3log. 7
log.2 log 7 logs3
+

D) +
2 2 2

126) log, (10°-3)°

log, 10 log, 3
+

3

B) log, 10 +log, 3 + 6log 11

C) 2logg 10-12log 3

D) 12log¢ 10 + 2log ¢ 3

A) logg 11 +

128) log,, (u® - v)’
A) log, u+log,v+5Slog, w
B) 25log, u-35log, v
log,u log,v
+
3

C) log, w+

D) 25log, u +5log, v

130) log, (c’\/3a-b)
A) 2log, a+10log, b
log,a log,b

B) log, c+ +
) log, 3 3

log,a log,b log,c
+ +
3 3 3
D) log, a+log, b+5log, ¢

132) log, Nu-v-w
logsu loggv logyw
+ +
2 2 2
B) log. u+log v+3log. w

0

A)

C) 3log, u-2log v

log . u

D) 3log. w+



133) log, V/11-10-7

log, 11
A) 2log, 7+

B) log, 11 +log, 10 + 2log, 7
C) 2log, 11 + 4log, 10

log, 11 log, 10 log,7
D) + +

3 3 3

135) log, (x* - y)’

A) 9log, x +3log, y

B) log, x +log, y+3log, z

log,x log,y
¥ 3

C) log, z +

D) 3log, x+9log, y

2
137) log (16)
v

A) 6log, u—2log v
B) 6log, u+2log, v
logcu log.v

C) log, w+ +
) log, 5 5

D) 2log, u—12log v

139) log. (7*~/10)

log, 10 log 11 log.7
+ +

A
) 3 3 3

B) 12log, 10 + 3log, 11

log . 10

C) 4log, 7+

D) 3log, 10 + 12log 11

141) log, (a*-5)”
A) logga+logg b+4log, c
B) 8logg a+2logg b
C) 2logg a-8logg b
logoa loggh loggc
+ +
2 2 2

D)

134) log, (x°- y)°
A) 12log, x +2log, y
log,x log,y log,z
+ +
3 3 3
C) 2log, x-12log, y

B)

D) 6log, x-2log, y

136) log, (5V3-8)

log,3 log,8
¥ 3

A) log, 5+
B) 6log, 3 +24log 8

log, 3

C) 4log, 5+
D) 24log, 3 - 6log, 8
138) log, (5°-7)°

A) 30log, 5+ 5Slog, 7
B) Slog, 5 +30log, 7

log,5 logy,7 log,8
+ +
2 2 2
D) Slog, 5 -30log, 7

0

140) log, V275

A) logg 2 +log, 7+ 6logy 5
log, 2 logg7
+

B) log, 5+
) logg 3
log,2 log,7 log,5
) 8%, os S8
3 3 3

D) 6log, 2 +6log, 7

142) log. (8-5%)’
A) 3log, 8+ 12log, 5
B) 4log, 8 -3log, 5

log, 8 log,5
+

C) log, 11 + 3

log ., 8

7

D) 4log, 11 +



2
143) log, =
1%

A) 2log, u—-S5log, v
B) log, u+log,v+2log, w

C) Slog, u+10log, v
D) 10log, u + Slog, v

145) log, (x*- )’
A) 3log, x-6log, y
log, x log,y
+

B) log, z +
) log, 5
log,x log,y log,z
) 4T D% o
2 2 2

D) 18log, x+6log, y

6
147) log, =
y
A) 4log, x +24log, y
log,x log,y log,z
+ +
3 3 3
C) 4log, x—24log, y

B)

D) 6log, x —4log, y

149) log,, (x - y-z*)

A) log  x+log, y+4log, z

B) 4log, x-4log, y

log,x log,y log,z
+ +

3 3 3
log, x

0

D) 4log, z +

6\2
151) log, (x—)
y

A) 2log, x-12log, y
B) 12log, x - 2log, y
C) 2log, x+12log, y
logyx logyy logyz
+ +
2 2 2

D)

144) log, N6 -7-11
A) 15log, 6 +3log. 7
log. 6

5

B) Slog, 11 +

C) 3log, 6+ 15log. 7

log. 6 log.7 log. 11
D) 52,85 %8s

2 2 2
146) logg Vx-y-z

logox loggy loggz
+ +

A
) 2 2 2
log, x log,y
B) log, z + LR 28

C) logg x+logg y+2log, z

log, x

D) 2log, z +

34
148) log, —
7 10°

A) 4log, 3 +6log, 10

B) log, 3 +log, 10 + 4log, 11

C) 6log, 3 -24log, 10
D) 4log, 3 -6log, 10

3\
150) log (—)

6 85
A) Slog, 3 +4log, 8

log, 3

B) Slog, 5+

C) 4log, 3 -20log, 8
D) 20log, 3 +4log, 8

5
152) log, (%)
5

A) 18 +5log, 5
B) 6log, 11 +1
C) 15-30log, 5
D) 90-5log, 5



x\* 154) log, (2°-7)°
153) 10g4 (—5) ) 0g4
A) 6log,2-2log, 7

A) 20log, x +4log, y B) 12log, 2 +2log, 7
B) 4log, x - 20log, y C) 6log, 2+2log, 7
C) Slog, x+4log, y log,2 log,7 log,11
D) 1 log,x log,y D) 3 + 3 + 3
og,z+ +
BaFTTS 3
155) log, V/10-3-7 156) log, (x* - y)*
A) 4log. 10 +4log, 3 A) 12log, x +4log, ¥
log, 10 log,3 log,7 log, x
9
B) 5 + 5 + 5 B) 3log, z +
log. 10 log. 3 C) 31 41
C) log, 7+ SR ) Slogy x+dlog, y
2 logyx logyy log,z
D) 16log. 10 - 4log 3 D) ——+——+—
157) log5 (113\/5) a *
158) log, |—
A) 3log. 3 -2log 7
log. 3 A) 12log a—4log . b
B) 3log, 11 + log.a log, b
B) log, ¢ + ° 4 °
log.3 log,7 log.11 2
O+ +—, C) 3log, a—-4log b
D) 2log, 3 -6log. 7 log,a log b log,c
D) + +
2 2 2
159) log, (asbs) 160) log , (ab3)5
A) Slog, a+5Slogy b A) Slog, a+15log., b
B) 25log, a-5logy b log, a
logga logyb log,c B) 3log; c+
) + +
3 3 3 C) 3log,a+5log, b
D) Slog, a-5log, b D) 15log, a+Slog, b

Condense each expression to a single logarithm.

161) 8log, u —4log, v 162) 10log, x + Slog, y
’ 510
A) 1
A) log, U_4 B) log, (Vuw2) ) log (ysx )
v X
~/ B) log, —
C) log, Y wvu D) log, (v4u2) ) log ylo
C) log, (*V/x)

D) log, (yxzz)



163) 4log, 3 +Slog, 2

A) log, (2% 3%
4

3
B) log, —

C) log, (2°-3°)

D) log, (116)
165) 4log, u +8log, v

A) log, (wz\/;)

B) log, (v8u4)

C) log, (vuwz)
2
u
D) log, —
\%

167) 20log, 3 - 4log, 2

20

A) log, 32—4 B) log, (220 . 34)
3’ \3/7
O) log7; D) log, V30

169) 6log, 12 - 3log, 7
A) log, (84-11°)
12°
B) IOg3 ?

12°
C) log, —
3 718

D) log, /924

171) log, x +1log, y+5log, z

A) log, (yxzs)
5
B) log, .

164) 4log, 10 - 2log, 7
A) log, (7 10?)
B) log, (34%)
C) log, (70 3%)

10*
D) log, —
2 72

log,7 log,3 log,5
+ +
3 3
A) log, (52\3/7)
B) log, V105
C) log, (3°-7°)

72
D) log, —
2 33

166)

log,x log,y
+

168) log , z +
) log, 5

A) log, (y6x3
B) log, (z X

C) log, (y3x2

6
X

D) 10g4—3
y

log6 X log6 y
+

170) log, z + 3

6
X

A) log6 o
Y

B) log, ( yxz4)
C) log, (2\3/;)
D) log, (")
172) log, x +log, y +3log, z

A) log, (23 \3/;)
3

x
6
y

C) log, (yxz3)
D) log, ('x’)

B) log,



173) nx+In y+3lnz 174) Slog, a +20log, b

6_2 x3 >
A WG B mE A log, s B) log, (b%’)
y p20
C) In (yxz3) D) In N zyx a> 0 5
C) log, - D) log, (6%4°)
b’
175) 6log, 6 + 12log, 5 176) 12log, x - 3log, y
A) log, (5°-6" — x'?
) gz( ] 2) A) log, (z yx) B) logg—3
B) log, (5°- 6?) y
3
2
C) log, (7 \/g) C) log, (yxz4) D) log, %
D) log, (5 6°) y
177) log, x +1log, y +2log, z log.3 log 10 log.7
178) + +
A) log, (yxzz) B) log, Vzyx 2 2 2
0 log, (%Y D) log, (*¥) A) log; V210
B) log (730
33
C) IOg5 F
D) log, (10°-3?)
179) 2log, x - 2log, y 180) log, x +1log, y + 6log, z
4 6
A) 1
A) log, (yxzz) B) log, x_2 ) log, (yxz )
y B) log, (yx")
2 63
C) log, D) log, (') C) log, (*Vx)
y 12
D) log, —
Y
181) 2log, x + 10log, y 182) 3log, x-9log, y
3
A) log, (") B) log, (%) A) log, (=3 yx)
10 3
X X
C) log, * D) log, (y*x") B) log,
Y y
JE
C) log, —

D) log, (yxz3)



183) 4log  a—-8log, b
A) log, (c\/z)
B) log . (bac?)

4
a

C) log. —
5 bg

D) log, (b4a8)

185) 3log, 7+ 3log, 10
A) log, (10°-7°)
B) log (33\3/;)
0) log. (10*-7°)

D) log. (10°-7°)

log, 3

g

187) Slog, 11 +

A) log, (115\/5)
B) log, V330
C) log, (114/30)

15
D) log, —
> 10°

189) Slog, x +20log, y

A) log, (™) B log, (yx)
5
X
C) log, (y°x*) D) log, ~—
y
191) log, x +1log, y +6log, z

A) log, (yxzﬁ)
5

X
B) 10g6 q

y
C) log, (=< yx)

D) log, (y*x’)

184) 16In x - 4In y
A) In (y4x4) B) In ’\/3 zZyx

16

C) In > D) In (z*</x)
y

log, u

186) 3log., w+

A) log, (v4u3)

B) log, \/3 wvu

C) log, (w*~u)
3
D) log, *-
Ny
log, u

138) 4log, w+

ulﬁ
A) 10g 8 —4
v

B) log,, (w'~/u)
C) log, (vu')
D) log, (v16u4)
190) 2log, a-8log, b
A) log, (bac?)

2

o) log6% D) log, Vcha

B) log, (bsaz)

192) 2log, 5 +4log, 8

A) log, V120
B) log, (8*-5?)

52
C) log., —
7 84

54

D) log., —
7 82



log,x log,y log,z log,x log,y log,z
+ + + +

193) 194)
3 3 3 3 3
9 3
A) 1
o, A
J; B) lo L
B) log, Vzyx &6 3
C) log, (%) C) log, (yx’)
3
D) log, (23\3/;) D) log, Vzyx
log,x log,y log,z 196) 18log, x - 3log, y
195) + +
2 2 2 x°
A) log, —
A) log, (z'\/ yx) ) log, 3’
16 8
B) log, F B) log, ?
0) log, (*/x) C) log, (°V/x)
D) log, Vzyx D) log, (y3x6)
197) 3log, a +15log, b log,x log,y log,z
; 198) + +
A) log, (cV/ba) 3 3 3
5.3 9
B) log2 (03\/;) A) log, x_3
y
a
£ 3
C) log, B B) log, (z’\/ yx)
3
D) log, (b15a3) C) log, Vazyx
D) log, (»’x’)
199) 6In 7-241n 11 200) 12log, x + 6log, y
6 612
A) 1n7—24 B) In (8*/7) A) tog, (5"
11

B) log, (22\/;)
C) log, (1)
D) log, (%)

c) In (11°- 79 D) In (83/77)

-31-



Calculus & Trigonometry

Assignment

Evaluate each expression.

1) log7%
-3

3) log, 1
0

1
5) IOg3 2—7

-3

1
7) log, o

-6

9) log, 16
4

11) log, 64
3

13) log, 6
1

15) log, 1
0

17) log3é
-2

19) log, 4
2

1
21) IOg5 E

-3
23) log 216
3

Name

ID: 1

Date

1
2) log4E

-2

4) log, 64
6

6) log, 1
0

8) log, 81
4

10) log, 243
5

1
12) log, 29

-2
14) log, 32
5

1
16) log, To

-4
18) log, 49
2

20) log, 4
1
1
22) log., —
) 823
-3
1
24) log, —
) 3043

-5

Period



25) 10g4%
-1

27) log, %
-2

29) log46i4

-3
31) log, 1
0

33) log 25
2

35) log, 36
2

37) log 1
0

39) log, 9
2

26) log, 343
3

1
28) log, 36

30) log, 8

1
32) log, n

)
34) log, 16
2

1
36) log 16
-3
38) log, 125
3
40) log , 27
3

Use a calculator to approximate each to the nearest thousandth.

41) log, 43
2.337
43) log, 4.8
1.132
45) log, 58
5.858
47) log, 18
4.17
49) log, 30
4.907
51) log, 17
4.087
53) log. 5.6
1.07

42) In 6
1.792
44) log, 3.3
0.666
46) log, 1.7
0.383
48) log, 5
2.322
50) log, 69
6.109
52) log, 3.23
1.067
54) log 17
1.23

2-



55) log, 58
2.087
57) log, 26
1.818
59) log, 4.6
0.784
61) log, 69
2.363
63) log, 1.2
0.094
65) log, 2.2
0.569
67) log 3
0.477
69) In 4
1.386
71) log, 16
4
73) log, 12
3.585
75) log, 31
1.765
77) log, 1.9
0.584
79) log 3.6
0.796

56) log . 61
2.554
58) log, 21
1.565
60) log, 54
5.755
62) log 5.3
0.724
64) log, 5.3
0.857
66) log, 2.3
0.601
68) log, 25
4.644
70) log, 39
2.643
72) log, 6
1.631
74) log, 1.7
0.483
76) log 29
2.092
78) log, 6.9
1.078
80) log, 2.8
0.937



Identify the domain and range of each. Then sketch the graph.

81) y=log, (x+2)+1 82) y=log, (x-1)-5
8\)’ Domain: x > -2 g Y > Domain: x > -1
Range: All reals /// Range: All reals
V
4 /
4
< /’-——).\ < 3
-8 6 ¢4 —2/ 4 X 8 46 4 2 2 4 x
=4 4
=C 0
=4 8
4
*B) B)
é Y Domain: x > -2 8\ Y Domain: x > -1
Range: All reals Range: All reals
0O 0l
4 4
ol 4/’—_’> Tl
-8 6 ¢4 4 X -8 6 ¢4 2 2 4 X
5| 5 -
=4 =i ///
_ _/
0}
=8
A '
0] ‘ *C) \
SK Y Domain: x > 2 é Y Domain: x> 1
Range: All reals Range: All reals
U} C
4] 4
5 —r 5
yall
SR e 4 b 4 i Y P ) 4 X
4 » ///
=0 =
A 4
D) D)
Qy Domain: x > 2 gl Y Domain: x > 1
Range: All reals // Range: All reals
1 7
4 4
—
1816 b 1 /r x B8 d b 2 4 X
—4 —4
=0 =0
=4 =8|
4

-



83) y=log, (x-1)+4 84) y=log, (x-1)+3
A) A)

3ky Domain: x > 1 al Y Domain: x > 1
Range: All reals Range: All reals
O 0
4 4 — -
Y R V) 2 4 X J Y o VR ) 2 4 X
- —> B
| —
=4 =4
=0 =0}
1y )
_0(. =9
*B) B)
{; Y Domain: x > 1 8\)’ Domain: x > -1
Range: All reals Range: All reals
N >
G &
- - - N,
—8—6—4—2" > 4 x —8—6—4—2" 2 4 » 3 x
- "
=4 4
=0 T
R ¥
é Y Domain: x > -1 8\)7 Domain: x> 1
Range: All reals Range: All reals
0} ’—’_—9. 0
/ &
-8 46 4 2 2 4 X -8 46 ¢4 2 4 X
. - L~
4 =4
6l =
R R’
D) D)
é‘ Y Domain: x > -1 ;k Y Domain: x > -1
Range: All reals Range: All reals
O 0
4 4= —r
Y P V) > 4 X J Y o P ) 2 4 X
= o —— .
—4 4
Y
8| =8|
4



85) y=log, (x-1)+3 86) y=log, (x-1)-5
5 A)

*A) 3 Y Domain: x > -1
({\y Domain: x> 1 |_» Range: All reals
s U/
Range: All reals
O
4 5
5 I~~~
SR de R[] 2 4 X
R V) 2 4 ’x :
=9 4
=4 .
=6 9
=8
4 B)
B) 8\ Y Domain: x > 1
g Y Domain: x > 1 |, Range: All reals
Range: All reals "
o) 4
Ei 5|
5 . N
-8 6 ¢4 2 2 4 X
8 d6 4 > 4 ¥ =
=9 —4
4 \
=4 | i
=0 —8
q 4
=0
Y *C)
C) 8k Y Domain: x> 1
é Y Domain: x > -1 o Range: All reals
Range: All reals
o) 4
4 5
< N -8 6 ¢4 2 | 4 X
8 6 4 2 ? 4 X = I
= —4
_4\ L _ //
=0 —8 !
q '
=0
A D)
D) ;k Y Domain: x > -1
8\ Y Domain: x > -1 ‘ Range: All reals
Range: All reals
€ 4
’\\
[ " WL | 24 >
ke Db ) 4 ¢ ¥ = )
= 4=
/
=4
- k




87) y=log, (x-1)+2 88) y=log, (x+5)+5
A) A)

gk Y Domain: x > -1 al Y Domain: x > -5
Range: All reals Range: All reals
O 0
4 4
Y R V) ) — % x J Y o VR ) 24 X
p | ——
T4 =7
LT
0l i/ =0}
3 Y =3
4
g Y Domain: x > 1 8\ Y Domain: x > -5
Range: All reals L Range: All reals
0}
L~
4 —— 4
- - - N,
8 6 4 2 ? 4 X -8 6]¢# 2 2 4 X
=4 =4
=0 =C
=8 =4
A 4
C) C)
é Y Domain: x > -1 8k Y Domain: x> 5
Range: All reals Range: All reals
0} 0
P E—— 4
-8 6 4 2 ? 4 X -8 6 ¢4 2 4 X
T4 =4
0} = i/
8] =8 Y
A '
D) D)
é‘ Y Domain: x > 1 ;k Y Domain: x > 5
Range: All reals Range: All reals
O 0
4 4
R V) ) A% J R R P R} ¥
=4 =4
=4 =8|
4




89) y=log (x-1)-2

A)

A)

90) y=log (x-2)-4

;’k Y Domain: x > -1 Domain: x > 2
Range: All reals Range: All reals
4 A P
H “H
R V) 24 X [ PR ) 4 x
+4i =4
0 =0
3 -8
4
B) B)
g Y Domain: x > -1 8\ Y Domain: x > -2
Range: All reals Range: All reals
0}
4 4’-——_
A G
gt A
- - - N,
8 do 44 ) 4 X -8 46 4 P 2 4 X
T4 =]
=6 =6
=5 =8
Y Y
9)) C)
g Y Domain: x > 1 8k Y Domain: x > -2
Range: All reals Range: All reals
0} C
4] 4
ol —_—-a- Tl
Y P > 4 'x R PR 4 X
4 P |
=4 &
=6 =
= =9
A '
*D) *D)
\y . y .
o Domain: x > 1 o Domain: x > 2
Range: All reals Range: All reals
O 0
4 4
R ) | 2 4 6% J R P 1 24 ¥
—4 =4 —
=6 =0
=4 -3
4



91) y=log, (x-1)-4 92) y=log, (x+6)+5
A) A)

3ky Domain: x > -1 al Y Domain: x > 6
Range: All reals Range: All reals
O 0
4 4
Y R V) 2 4 X J Y o VR ) 2 4 X
- o -
| —
—4 =4 /7
0l =0}
3 =3
4
B) B)
g Y Domain: x > 1 8\)/ Domain: x > 6
Range: All reals Range: All reals
N | ,
4 4
- - - N,
8 46 4 2 2 4 x 8642 24 x
=4 =4
=0 =C
=8 =8
A 4
0] *C)
é Y Domain: x > -1 8\)7 Domain: x > -6
Range: All reals /’-—-—’_"")’ Range: All reals
0} —-——___a. / 0
# &
-8 46 ¢4 2 2 4 X -8 p ¢4 2 4 X
4 =4
—6| -
=8| =8
A '
*D) D)
Ay . Ay .
o Domain: x> 1 ol Domain: x > -6
Range: All reals Range: All reals
O 0
4 4
Y P V) > 4 X J Y o P ) 2 4 X
= I ;A_’_—-
=4 /' i
=8 =8
4



93) y=log4(x+5)—1

Domain: x > -5
Range: All reals

Domain: x > 5
Range: All reals

Domain: x > 5
Range: All reals

Domain: x > -5
Range: All reals

*
A) .
4
C
4
Rk 2 ! ¥
4
=0
-8
7
B) Ay
N
0}
4
A -
I8 1o 14 ] ¥
—4
=0
-8
Y
0] A
g
0]
4
I8 do 1u 1 %
4
=0
-
Y
D
) Ay
J
C
4
—-—'—
L~
JETIRY M) 4 ’x
4
-8
7

94) y=log, (x+6)+5

A)

B)

0

*D)

-10-

al Y Domain: x > -6
Range: All reals
0
4
B8 46 4 p 2 4 x
T
=3
8\ Y Domain: x > 6
Range: All reals
4
N,
-8 46 4 2 2 4 X
=4
=C
=8
4
8\)’ Domain: x> 6
Range: All reals
0
4
-8 46 ¢4 2 4 X
=4
=§
'
;k Y Domain: x > -6
I Range: All reals
0
4
B8 b 4P 2 4 ¥
=4
=3



95) y=log (x-1)-3

Domain: x > 1
Range: All reals

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > -1
Range: All reals

*A)
4
5
4
B b D2 7 4 x
=9 /_—_
4
=0
-8
v
) A
5
0]
e
- -
R P ) 4 x
-4
=0
-8
v
) Ay
4
0]
4
TRl D 2 4 x
L4
=0
=g
Y
) .
4
C
4
Y P V) [ ¥
=e
£
9]
o
v

-11-

9)

D)

al Y Domain: x > -5
Range: All reals
0
E
R e ) ¥
=4
=0}
=g
8\ Y Domain: x > 1
Range: All reals
4
2 >
>
-8 6 ¢4 2 4 X
=4
=C
=4
4
8k Y Domain: x > 0
Range: All reals
0
A
ol /-a.
yad
-8 6 ¢4 2 4 X
=4
'
;k Y Domain: x > -1
Range: All reals
0
4
5 ——
B8 46 4 p 2 4 X
+4
o



97) y=log, (x+5)+1 98) y=log, (x-2)+4
A) A)

gk Y Domain: x > -5 al Y Domain: x > 2
Range: All reals Range: All reals
O 0
4 4
R 2 4 X J Y o VR ) 2 4 X
- - 2’
A A e
=4 =4
=0 =0}
=8 =3
4
B) B)
g Y Domain: x > 5 8\ Y Domain: x > -2
Range: All reals Range: All reals
0} [
L —
4 <
- - N,
8 6 4 2 > 4 % X -8 6 ¢4 P 2 4 X
=4 =4
=0 =C
=8 =4
A 4
*C) C)
Ay Ay
g Domain: x > -5 g Domain: x > -2
Range: All reals Range: All reals
0} 0
4 4
— 2
-8 6|¢# 2 ? 4 X -8 6 ¢4 2 4 X
= =
=4 <
=6 =
=8| =8
A '
D) *D)
é‘ Y Domain: x > 5 ;k Y Domain: x > 2
Range: All reals Range: All reals
C 0 2»
/
4 4177
7
Y P V) > 4 X J Y o P ) 1 4 X
=4 =4
=4 =8|
4

-12-



99) y=log, (x—1)+2

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

hy
4
C
4 —
R V) 24 X
=
=0
-
v
B)
Ay
5
0]
e
- -
B4 Db > 4 x
i
0]
5
Y
) A
5
0]
4
R’ b b P S
—
=0
=
Y
D)
Ay
J
C
4
R V) >~ 6 % x
{4
o
v

100) y=log, (x+4)-4

A)

B)

-13-

D)

ol Y Domain: x > 4
Range: All reals
0
107
8 46 4 2 x
=4
=0}
=3
8\ Y Domain: x > 4
Range: All reals
4
N,
-8 6 ¢4 2 4 X
=4
=C
=4
4
8k Y Domain: x > -4
Range: All reals
0
A
-8 6 ¢4 2 4 X
L
=
=8
'
;k Y Domain: x > -4
Range: All reals
0
—
( i
B8 46} 2 4 X
=4
=3



101) y=log, (x+4)-1 102) y=In(x-1)+2
A) A)

y .
gk Y Domain: x > 4 R Domalln. )lcl> 1l
Range: All reals ‘ Range: All reals
O
4 4
2 —
) 2 4 S -8 -6 —2_” ‘/I!/ X
i -4
=06 =0}
= =§
4
B) B) L
g Y Domain: x > -4 3 Doma1.n: )lcl> —ll
Range: All reals Range: All reals
0}
4 B
—
< N < — N
Y ) > 4 . B H 2 3 .
-4 {4
=0 FC
=8 8]
A \/
* C
C) Ay ) \y Domain: 1
8| Domain: x > -4 Sl 0ma1.n. x>-
Range: All reals ) Range: All reals
0O
4 4 —
] Jo a2 4 > 62l 29 x
—4 i
=0
- 8]
A '
D) *D) }
él Y Domain: x > 4 g Domal'n: x>1
Range: All reals ‘ Range: All reals
O
4 4 =
. A A
~ 7
Y VY % il ol ol K x
—i —
— =0}
= =§
4

-14-



103) y=log (x+1)+4 104) y=log, (x-1)+4
A) A)

gk Y Domain: x > 1 al Y Domain: x > -1
Range: All reals Range: All reals
: I N
4 4
Y R V) 2 4 X J Y o VR ) 2 4 X
= = —
=4 —4
=0 0
=8 ¥3
4
B) B)
{; Y Domain: x > 1 8\ Y Domain: x > -1
Range: All reals Range: All reals
0} /’-—
” 4
- - - N,
8 46 4 2 2 4 x 8642 24 x
= i :
| —
-4 4
=0 T
=8 ‘.,' 8]
A 4
*C) C)
é Y Domain: x > -1 8k Y Domain: x> 1
Range: All reals Range: All reals
0} ’—’_—9. 0
/ &
-8 6 4 2 ? 4 X -8 6 ¢4 2 4 X
42 =9 ”»
| —
4 =4
) v
=8| =8 ¥
A '
*
D) Ay . D) Ay .
o Domain: x > -1 ol Domain: x> 1
Range: All reals Range: All reals
€ 0] —>
/
A |
B A
Y P V) > 4 X J Y o P ) 2 4 X
= ——- =
| —
= 4
8 =8|
4

-15-



105) y=log, (x-1)+5 106) y=1log, (x+4)-5
A) *A)

gk Y Domain: x > -1 al Y Domain: x > -4
Range: All reals Range: All reals
o~ 6}
4 4
Y R V) 2 4 X J Y o VR ) 2 4 X
4 4
=0 =0}
=8 =3
4
B) B)
{; Y Domain: x > -1 8\ Y Domain: x > 4
Range: All reals Range: All reals
0}
4 4
- - - N,
il x B | 3 X
=4 =4
/
4 _
1‘) T
¥ =4
A 4
C) C)
A Domain: x > 1 8k Y Domain: x > -4
Range: All reals Range: All reals
0}
4 4
-8 6 4 2 ? 4 X -8 6 # 2 4 X
=4 =4
/
> f’ _
=Y =8
A '
*D) D)
Ay . Ay :
o Domain: x> 1 ol Domain: x >4
Range: All reals Range: All reals
€ — Y
4 4
Y P V) > 4 X J Y o P ) 2 4 X
=4 =4 -
=4 =8|
4

-16-



107) y=1log, (x-1)-3 108) y=log, (x-1)+3
A) *A)

gk Y Domain: x > 1 al Y Domain: x > 1
Range: All reals Range: All reals
O 0
I - 4
/ —
Y R V) 1[2 4 X J Y o VR ) 112 4 X
=4 =4
=0 =0}
=8 =3
4
B) B)
{; Y Domain: x > -1 8\ Y Domain: x > -1
Range: All reals Range: All reals
0}
G & —
- - - N,
_3_(,_4_2"// X —8—6—4—2n 2 4 X
=217 :
/ 4
= 4
0} T
8 =4
A 4
C) Ay ©) v
g Domain: x > -1 g Domain: x> 1
Range: All reals Range: All reals
6 [ 6|
4 /// 4
/ 5
-8 6 4 2 ? 4 X -8 6 ¢4 2 4 X
. = —
T4 =4
ol =
8] =8
A '
*D) D)
Ay . Ay .
o Domain: x> 1 ol Domain: x > -1
Range: All reals Range: All reals
O 0
4 4
R V) P % J R R P R} ¥
= / - /
=4 l =4
= i 3
4

-17-



109) y=log, (x-1)+5 110) y=log, (x+5)+4
A) *A)

gk Y Domain: x > -1 al Y Domain: x > -5
__» Range: All reals Range: All reals
O / /U—_'__.
E
Y R V) 4 X Yy G 4 X
4 =4
0 =0}
=8 =3
4
B) B)
g Y Domain: x > -1 8\ Y Domain: x > 5
Range: All reals Range: All reals
0}
4 4 f
- - - N,
8 6 4 2 4 X -8 6 ¢4 2 4 X
4 —> 4
=4 =4
L
1‘/) =C
¥ =4
A 4
é Y Domain: x > 1 8k Y Domain: x > -5
Range: All reals Range: All reals
0} 0
4 4
-8 6 4 2 4 X -8 6 ¢4 2 4 X
= A
=4 1 =4
T
_o-/ _
1 vl
=01 ¥ =0
A '
*D) D)
Ay . Ay .
o Domain: x> 1 ol Domain: x> 5
Range: All reals Range: All reals
6 T 0}
4 4
Y P V) > 4 X J Y o P ) 2 4 X
-4 -4 r
4

-18-



111) y=log, (x+2)-2 112) y=log  (x-1)+2
*A) A)

gk Y Domain: x > -2 al Y Domain: x > -1
Range: All reals Range: All reals
O 0
& “ | —
Tk —244__,.—Ah—+r-*?’; J Y o VR ) 24 X
=4 14
=0 0
—3( 3
B) *B)
{; Y Domain: x > 2 8\ Y Domain: x > 1
Range: All reals Range: All reals
0}
) > | >
- ( - - N,
8 6 4 2 4 X -8 6 ¢4 2 2 4 X
=4 =4
=0 =C
=8 =4
A 4
é Y Domain: x > -2 8k Y Domain: x> 1
Range: All reals Range: All reals
0} 0
4/’__—__’. H
-8 6 ¢4 P ? 4 X -8 6 ¢4 2 468, x
=4 =4
=6 =
=8| =8
A '
é‘ Y Domain: x > 2 ;k Y Domain: x > -1
Range: All reals Range: All reals
O 0
4 4
Y P V) >} Gy J Y o P ) ) A%,
=4 +4
—8( 8

-19-



113) y=log (x-1)+5 114) y=In(x-2)+2
A) A)

y .
gk Y Domain: x > -1 R DOmalln. x>-2
Range: All reals ‘ Range: All reals
O
4 4
R 2| 23 X B # P TH x
=4 —r =4
/
4 o
L =8
4
B) “B) .
Ay Domain: x > 1 3 Domal.n: x>2
Range: All reals Range: All reals
0}
G & = -
A 5| /1
P -~ < N
) > 4 X -8 -6 4 —27" 1 4 X
. E— -4
=0 V4 =
-3 ‘l =8
A \/
* C
C) Ay ) \y Domain: x > 2
8 Domain: x > 1 Sl omal.n. x>
Range: All reals ) Range: All reals
0O
/
4 4
8 do d4 D ) 4 X -8 -6 4 _2_,‘ J /ZV! X
4 4
—6| -
—g| -3
A '
D) D) .
él Y Domain: x > -1 § Domal'n: x>-2
Range: All reals ‘ Range: All reals
l/ 4 >
& B —
5 A
Y 7
R V) 2 4 ¥ il il R A X
4 -4
— =0}
= =§
4

-20-



115) y=log  (x-2)+5

A)

B)

0

*D)

Sk Y Domain: x > -2
| Range: All reals
¢ —
4
B4 P 2 4 “x
=4
=0
=8
4
{; Y Domain: x > 2
Range: All reals
0}
4
8 6 4 2 ? 4 X
=4
=0 /
=8
A
é Y Domain: x > -2
Range: All reals
0}
4
-8 6 4 2 ? 4 X
A >
=4
e
=8|
A
é‘y Domain: x > 2
Range: All reals
O
4
816 4 4 X
=4
=4
4

116) y=log  (x-1)+1

A)

B)

0

*D)

21-

al Y Domain: x > -1
Range: All reals
0
E
846 4 2 7 4 X
+4
0
8§
8\ Y Domain: x > -1
Range: All reals
4
=
N,
-8 6 ¢4 2 2 4 X
44
T
8
4
8k Y Domain: x> 1
Range: All reals
0
A
-8 6 ¢4 2 7 X
=4
=8
'
;k Y Domain: x > 1
Range: All reals
0
4
L~
8 d6 4 2 4 ¥
=4
=3



117) y=log, (x+6)-2

A)

*B)

9

D)

\y

Domain: x > 6
Range: All reals

846 4 4 X
=4
=0
=g
4
g Y Domain: x > -6
Range: All reals
0}
4
-8 —6/—4/_—_7—: x
=4
=0
=8
A
é Y Domain: x > 6
Range: All reals
0}
4
-8 6 4 2 4 8 x
=4
=0
=8|
A
é‘ Y Domain: x > -6
Range: All reals
O
4
T ]
8 F 4 4 X
=4

118) y=1log, (x-1)-3

Domain: x > 1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > -1
Range: All reals

Domain: x > 1
Range: All reals

4
A
) Ay
4
U}
4
A RN
J Y o P ) ! X
—
=0
=
B) "
8
AN
s 1o 14 Db 4 x
—
=C
=
7
0] .
g
0O
4
- -
;31 14 Db )] x
P
=4
=0
=
7
*D)
y
g
U}
4
R P 2 X
n N
=
=5

22




119) y=1log (x+3)-2

;’k Y Domain: x > -3
Range: All reals
4
8 d6 4 x
=4
=0
=§|
4
g Y Domain: x >3
Range: All reals
of
4
- -
-8 6 ¢4 —2q 4 6 8 x
=4
=0
=8
Y
; Y Domain: x >3
Range: All reals
0}
4
N —>r
TRl D ! x
=4
=0
=8
A
Sk Y Domain: x > -3
Range: All reals
O
4
—
Ty ) )] x
=4
=0
=8
4

Expand each logarithm.

6\
121) log, (H)
*A) 10log, 6 - 2log, 11
B) Slog, 6 +2log, 11
log, 6 log, 11
* 2

C) log, 7+

D) 10log, 6 +2log, 11

120) y=log, (x-1)+3

al Y Domain: x > -1
Range: All reals
0
E
IR
=2
0
8§
8\ Y Domain: x > 1
Range: All reals
4
- N,
—8—6—4—2" 2 4 » 3 x
= —_
=4
=C
=4
4
*
C) "
g Domain: x> 1
Range: All reals
0
& T
-8 6 ¢4 2 4 X
=4
=8
'
;k Y Domain: x > -1
Range: All reals
0
A —r
‘f/
J R R P ! ¥
4
o

122) log, V53-8

A) Slog, 5 +5log, 3

log,5 log,3
+

3 3
log, 5

*B) +1

C) 15+

D) Slog, 5 -25log, 3

23-



123) log, (2-11-57) 124) log, (3°V2)

A) 3log,2-6log, 11 A) 15log, 2 -3log. 7
*B) log, 2 +log, 11 +2log, 5 log 2
*B) Slogy 3+
log, 2
©) 2log; 5+ C) 15log 2+ 3log, 7
D) 2log, 2 +3log, 11 log.2 log 7 logs3
D) + +
2 2 2
3
125) log, (3310 11) 126) log, (10° - 3)’
A) 8log, 10 +4log 11 log, 10 log, 3
B) 8log, 10 - 4log 11 A) logg 11+ t—
log, 10 B) log, 10 +log, 3 + 6log, 11
C) 2logy 3+—— ) log, 55 S
C) 2logg 10-12log 3
logg 10 log, 11 *D) 12log, 10 + 2log, 3
*D) logg 3 + L ; ) 12log, 10+ 2log,
3 5 5
127) log, (%) 128) log, (” 'V)
b A) log, u+log,v+5Slog, w
*A) 3log; a-18log, b B) 25log., u-5log., v
B) 18log, a +3log, b o log,u log, v
log.a log.b log,c 0g, w+ +
0] SR >4 3 3 3
2 2 2 *D) 25log, u+5log, v
D) 3log, a +18log, b
129) log, (u-v-w3) 130) log, (c’\/3a-b)
A) 3log, u—4log, v A) 2log, a+10log, b
log,u log,v log,w log,a log,b
B) R LR ’ *B) log, c+ G- A
2 2 2 3 3
*C) logy u+logy, v+3logy, w c log,a log,b log,c
logyu logyv ) 3 ¥ 3 ¥ 3
D) logyw+ 2 + 2 D) log, a+log, b+5log, ¢
131) logg(a3-b)6 132) logs Nu-v-w
A) log, a+log, b +3log, c “A) log 5 u N log v N log s w
B) 3log, a-6log, b 2 2 2
C) 18log, a - 6log, b B) log. u+log v+3log. w
*D) 18log, a + 6log, b C) 3logsu~2log,v
log . u

D) 3log. w+



133) log, V/11-10-7

log, 11
A) 2log, 7+

B) log, 11 +log, 10 + 2log, 7
C) 2log, 11 + 4log, 10

log, 11 log, 10 log,7
*D) + +

3 3 3

135) log, (x* - y)’
*A) 9log, x +3log, y
B) log, x +log, y+3log, z
log,x log,y
¥ 3

C) log, z +

D) 3log, x+9log, y

2
137) log (16)
v

A) 6log, u—2log v
B) 6log, u+2log, v
logcu log.v

C) log, w+ +
) log, 5 5

*D) 2log, u-12log, v

139) log. (7*~/10)

log, 10 log 11 log.7
+ +

A)

3 3 3
B) 12log, 10 + 3log, 11

log . 10

*C) 4log 7+
D) 3log, 10 + 12log 11

141) log, (a*-5)”
A) logga+logg b+4log, c
*B) 8logg a+2logy b
C) 2logg a-8logg b
logoa loggh loggc
+ +

2 2 2

D)

134) log, (x°- y)°
*A) 12log, x +2log, y
log,x log,y log,z
+ +
3 3 3
C) 2log, x-12log, y

B)

D) 6log, x-2log, y

136) log, (5V3-8)

log,3 log,8
¥ 3

*A) log, 5+
B) 6log, 3 +24log 8

log, 3

C) 4log, 5+

D) 24log, 3 - 6log, 8

138) log, (5°-7)°
*A) 30log, 5 +5log, 7
B) Slog, 5 +30log, 7
log,5 logy,7 log,8
+ +
2 2 2
D) Slog, 5 -30log, 7

0

140) log, V275

A) logg 2 +log, 7+ 6logy 5
log, 2 logg7
+

B) log, 5+
) logg 3
log,2 log,7 log,5
“C) 8%, os S8
3 3 3

D) 6log, 2 +6log, 7

142) log. (8-5%)’
*A) 3log, 8 +12log, 5
B) 4log, 8 -3log, 5

log, 8 log,5
+

C) log, 11 + 3

log ., 8

7

D) 4log, 11 +



2
143) log, =
1%

*A) 2log, u-35log, v
B) log, u+log,v+2log, w
C) Slog, u+10log, v
D) 10log, u + Slog, v

145) log, (x*- )’

A) 3log, x-6log, y
log, x log,y
+

2
log,x log,y log,z
+ +
2 2 2

*D) 18log, x + 6log, y

B) log, z +

0)

6
147) log, =
y
A) 4log, x +24log, y
log,x log,y log,z
+ +
3 3 3
C) 4log, x—24log, y

B)

*D) 6log, x —4log, y

149) log,, (x - y-z*)
*A) log, x+log,  y+4log, z
B) 4log, x-4log, y
log,x log,y log,z
+ +
3 3 3
log, x

0

D) 4log, z +

6\2
151) log, (x—)
y

A) 2log, x-12log, y
*B) 12log, x - 2log, y
C) 2log, x+12log, y
logyx logyy logyz
+ +
2 2 2

D)

144) log, N6 -7-11
A) 15log, 6 +3log. 7
log. 6

gs
B) Slog, 11 +

C) 3log, 6+ 15log. 7
log. 6 log 7 log.11
+ +

2 2 2
146) logg Vx-y-z
log, x log,y log,z
“A) 87 o8 TP
2 2 2
log, x log,y
B) log, z + LR 28
C) logg x+logg y+2log, z
log, x
D) 2log, z +

34
148) log, —
7 10°

A) 4log, 3 +6log, 10

B) log, 3 +log, 10 + 4log, 11

C) 6log, 3 -24log, 10
*D) 4log, 3 -6log, 10

3\
150) log (—)

6 85
A) Slog, 3 +4log, 8

log, 3

B) Slog, 5+

*C) 4log, 3 -20log, 8
D) 20log, 3 +4log, 8

5
152) log, (%)
5

A) 18 +5log, 5
B) 6log, 11 +1
*C) 15-30log, 5
D) 90-5log, 5



4
153) log4 (%)
y

A) 20log, x +4log, y

*B) 4log, x-20log, y

C) Slog, x+4log, y
log,x log,y

D) log, z + +
) log, 3 3

155) log, V10-3-7

A) 4log. 10 +4log, 3

log, 10 log,3 log,7
+ +

2 2 2
log. 10 log,3
C) log, 7+ + 5

D) 16log, 10 —4log 3

157) log, (11°/3)
A) 3log. 3 -2log 7

log. 3
*B) 3log 11 +

log.3 log,7 log.11
+ +

C
) 2 2 2

D) 2log, 3 -6log, 7

159) log, (a°b’)
*A) Slogya+5logy b
B) 25log, a-5logy b
logga logyb log,c
+ +

3 3 3
D) Slog, a-5log, b

9

Condense each expression to a single logarithm.

161) 8log, u—4log, v

8
u

*A) log, — B) log, (vuw2)

\%

C) log, ’\/3 wvu D) log, (v4u2)

154) log, (2°-7)°
A) 6log,2-2log, 7
*B) 12log, 2 +2log, 7
C) 6log, 2+2log, 7

log,2 log,7 log,11
D) + +

3 3 3
156) log, (x3 : y)4
*A) 12log, x +4log, y

log, x

B) 3log, z +

C) 3logy x+4log, y
logyx logyy logyz
+ +
2 2 2

3\4
158) log, (%)

*A) 12log, a-4log, b
log,a log b
+

2

D)

B) log, ¢ +

C) 3log,a-4log, b

log.a log. b log, c
D) 6 + 6 + 6

2 2 2

160) log, (ab?)’
*A) Slog,a+15log, b

log, a

B) 3log, ¢ +

C) 3log,a+5log, b
D) 15log, a+Slog, b

162) 10log, x + Slog, y
“A) log, (y’x")
5
X
B) log, T

C) log, (zz\/;)

D) log, (yxzz)



163) 4log, 3 +Slog, 2

A) log, (2% 3%
4

3
B) log, —

“C) log, (2°-3°)

D) log, (116)
165) 4log, u +8log, v

A) log, (wz\/;)
*B) log, (v8u4)

C) log, (vuwz)
2
u
D) log, —
\%

167) 20log, 3 - 4log, 2
20

*A) log, 32—4 B) log, (220 . 34)

35
0) log; D) log, V/30

169) 6log, 12 - 3log, 7
A) log, (84-11°)
12°
>kB) log3 ?

12°
C) log, —
3 718

D) log, /924

171) log, x +1log, y+5log, z

*A) log, (yxzs)
5
B) log, .

164) 4log, 10 - 2log, 7
A) log, (7°-10%)
B) log, (34%)
C) log, (70 3%)

10*
>l<D) log 2 7

log,7 log,3 log,5
+ +

166
) 3 3

A) log, (52\3/7)

“B) log, V105

C) log, (3°-7°)
72

D) log, ;

log,x log,y
¥ 2

168) log, z +

A) log, (y6x3
*B) log, (z X

C) log, (y3x2

6
X

D) 10g4—3
Y
log,x log,y
+

170) log, z + 3

6
X

A) log6 o
Y

B) log, ( yxz4)

*C) log (z\/3 yx)
6

6_24

D) log, (<)
172) log, x +log, y +3log, z

A) log, (23 \3/;)
3

x
6
y

*C) log, (yxz3)
D) log, ('x’)

B) log,



173) Inx+In y+3Inz
3
A) In (4% B) In

y
D) In \/3 zZyx

*C) In ( yxz3)

175) 6log, 6 + 12log, 5
A) log, (5°-6")
B) log, (5°- 6?)
C) log, (72\/8)
“D) log, (52 - 6°)
177) log, x +1log, y +2log, z
*A) log, (yxzz) B) log, \/2)/7
0 log, (*x*) D) log, (%)

179) 2log, x - 2log, y

4
X
A) log, (yxzz) B) log, -
y
2

*C) log, x_2 D) log, (y4x2)
y

181) 2log, x + 10log, y

A) log, (%) *B) log, (%)
10

0] 10g4x—2 D) log, (yleo)
Yy

174) Slog, a +20log, b
5

A) log, % B) log, (b5a4)

20

C) log, ‘;—5 “D) log,, (6*°)

176) 12log, x - 3log, y

12

[ X
A) logg (z yx) *B) logg—3
y
4 x3
@) log8 (yxz ) D) log8 0
y
log.3 log 10 log.7
178) + +
2 2
*A) log. V210
B) log (730
33
C) IOg5 F

D) log, (10°-3?)
180) log, x +1log, y + 6log, z

*A) log, (yxzé)
B) log, (y’x")
C) log, (°V/x)

x12
D) log, —
y

182) 3log, x-9log, y

3
A) log, (z yx)
3
X
B) log, —
Yy

3
X

*C) log, -

D) log6 (yxz3)



183) 4log  a—-8log, b
A) log, (c\/z)
B) log . (bac?)

4
a

*C) log E

D) log, (b4a8)
185) 3log, 7+ 3log, 10
“A) log, (10°-7%)
B) log (33\3/;)
0) log. (10*-7°)

D) log. (10°-7°)

log, 3

g

187) Slog, 11 +

*A) log, (115\/5)
B) log, V330
C) log, (114/30)

15
D) log, —
> 10°

189) Slog, x +20log, y

“A) log, (™) B) log, (yx')
5
X
C) log, (y°x*) D) log, ~—
y
191) log, x +1log, y +6log, z

*A) log6 (yxzﬁ)
5

X
B) 10g6 q

y
C) log, (= yx)

D) log, (y*x’)

184) 16In x - 4In y
A) In (y4x4) B) In ’\/3 zZyx

16
“C) In D) In (z*</x)
y

log, u

186) 3log., w+

A) log, (v4u3)
B) log, \/3 wvu
“C) log., (w*u)

3
u

D) 10g 7 —4
v

log, u
138) 4log, w+

H16
A) 10g 8 —4
\%

*B) logg (w4\3/;)
C) log, (vu')
D) log, (v16u4)
190) 2log, a-8log, b

A) log, (bac?)
2

+C) log6% D) log, Vcha

B) log, (bsaz)

192) 2log, 5 +4log, 8

A) log, V120
“B) log, (8*-57)

52
C) log., —
7 84

54

D) log, —
7 82



log,x log,y log,z
+ +
3 3

193)

9
X
A) log, -

Yy
“B) log, Vzyx
C) log, (y9x3)

D) log, (23 \3/;)

log,x log,y log,z

195) + +
2 2 2
A) log, (Z\/;)
6
B) log, al

18
C) log, ();3\/;)
“D) log, Vzyx
197) 3log, a+15log, b
A) log2 (C%)
B) log, (05\3/;)
3

a
0] log2 T

b
*D) log, (b15a3)

199) 6In 7 -241n 11
6
*A) In 7_24 B) In (84\/7)
11

D) In (87/77)

C) In (11°- 7%

log,x log,y log,z
+ +
3 3

A) log, (z4yx)

3
X
B) log, Y
Y
C) log, (y3x9)

*D) log, \/3 zZyx

196) 18log, x - 3log, y

6
X

A) log, -
y

194)

8
*B) log, -

y
C) log, (26\/;)
D) log, (y3x6)

log,x log,y log,z
+ +
3 3

198)

9
X

A) log, -
4 3
B) log, (z’\/ yx)
*C) log, \/3 Zyx
D) log, (1°x)
200) 12log, x + 6log, y

*A) log,, (y°x"?)
B) log, (22\/;)
C) log, (y6x2)
D) log, (y"*x’)



